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Time : 2 hrs. 30 min.

[PART-B : Descriptive]

[ Answer question no.1 & any four (4) from the rest ]

a. Write the postulates of kinetic molecular theory of gases. 3+2+2+3
. =10

b.Write two differences between amorphous and crystalline solids.

c. What do you mean by conjugation and resonance?

d.Give a brief account of the line spectra of hydrogen atom

a. Discuss the crystal structure of NaCl with proper diagram. 3443

=10
b.Derive the Avogadro's Law and Boyle’s Law from Kkinetic
molecular theory of gases.

c. At constant temperature and pressure, 6.00 L of a gas is known to
contain 0.975 mol. If the amount of gas is increased to 1.90 mol,
what new volume will result?

a. Derive the Kinetic gas equation PV= (1/3) mN¢2 41313

=10
b.Write the equation of Maxwell distribution of molecular £
velocities in three dimension. Explain it graphically.

c. For Hz gas, calculate the (i) root mean square velocity, (ii) average
velocity and (iii) most probable velocity at 0 °C.

a. What are the laws of crystallography? Explain in details. Write =~ 3+2+3+2
down the Bragg’s equation and define each term involve in the =1l
equation.

b.State Huckel’s rule of aromaticity.

¢. Describe stability of primary, secondary and tertiary carbocations
in terms of hyperconjugation.

a. Describe capillary rise method for the determination of surface S+3+2
tension. Consider two liquids A and B such that A has half the =
surface tension and twice the density of B. If liquid A rises to a
height of 2.0 cm in a capillary, what will be height of B liquid rise
in same capillary?
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